SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 2)

TEST 3

Name:

Time: Score:

0935966 — 630846 =

2 970858 — 60203 =

9983199 — 750112 =

1 556023 — 146013 =

5 596905 — 273102 =

6 581249 — 21014 =

N 248926 — 10621 =

9 749301 — 714100 =

9 261747 — 41726 =

100409881 — 208070 =

1) 7482741 — 5220640 =

12) 1236963 — 114702 =

13) 241682 — 110042 =

771125 — 41122 =

15 529548 — 325120 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 2
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366720 — 301020 =

807758 — 5723 =

317539 — 314516 =

960708 — 240200 =

593074 — 32063 =

998693 — 6510 =

706518 — 505215 =

3339115 — 118101 =

4097415 — 1037114 =

877959 — 665032 =

650222 — 540202 =

748605 — 435103 =

405354 — 401141 =

902260 — 1030 =

894015 — 772005 =
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